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SN EB -GS - MBAY - BES 01l &k o e HRE2
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02 2eldl 264,000 0 264,000
SAXNGE 29 wsFESE I8t &F 22l 264,000
= 264,000
SwWEH & EHEL: | 320,000 800,000 A480,000
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FSwWEN L 2HEE =& 80,000,000%4H 320,000
2w BEAIL 4X 500,000 0 500,000
401 A &HIL 201 500,000 0 500,000
01 Al&HI 500,000 0 500,000
Awg AL & 500,000
STWNESZ A 500,000 0 500,000
403 AXIHHSK=201H 500,000 0 500,000
01 MXISMAZ2E = 500,000 0 500,000
d=xSstl S 2IA 500,000
SUESFYR =3t 3,556,540 10,226,540 26,670,000
dXHE 1 3=k 38 ALK 24 SEE
gl SEX @ E&2=
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Al 456,540
SN4=SFYR =54 M1 2,540 317,540 A 315,000
201 et 1,540 1,540 0
01 AtS 22l 1,540 1,540 0
SFIMAF FAHH 70,000%11Z 23] 1,540
203 ¥R =& 1,000 1,000 0
03 AZFXHRFAH| 1,000 1,000 0
SHSEBY ALSA 1,000
FaEFEY FA 20,000 25,000 A5,000
307 212t01& 20,000 25,000 A5,000
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Al 334,000
01 Al&HI 3,334,000 5,884,000 2,550,000
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= 7,761,000
Al 8,774,980
WSAXNOISHASE JI2H= = 135,000 0 135,000
207 A 1OH | 135,000 0 135,000
01 21ESHI 135,000 0 135,000
wWSA0ISE < 135,000
SHSHINLAIS = 1,000,000 3,110,000 A2,110,000
401 A EHIL 204 1,000,000 1,110,000 A 110,000
01 Al&HI 1,000,000 1,110,000 A 110,000
BHIIZAME(BEE 1,000,000
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fA WsEF
HH: A0 NS 2 A M (=sLnE/HENE - ERSIIE)
tel: NEAE 29 L HHd(REMSSESAH) (el &)
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
308 XXl & A S0l 4,620,000 4,185,000 435,000
02 d=+WT= 4,620,000 4,185,000 435,000
WERYs dx-uRs 4,620,000
golE s 14,600,000, 000%30% 4,380,000
A& 800,000, 000%30% 240,000
HE 2L ZH(DSSZ W) (JIEH/DIE) 189,845 184,215 5,630
ol 2| 92,853 84,316 8,537
ol 2 | 92,853 84,316 8,537
101 elH| 89,133 80,596 8,537
02 JIEtEE = 89,133 80,596 8,537
NEIOHERA('TH'S 29) 89,133
HAE  (71,572,000)+(71,572,000%70%+5. 1%) 74,128
CAZERI=E 6,920+ 2H #48A| 2hx12& +1.051 8,379
IE=g 80,000+x2ZF «12& 1,920
M Z A 130,000%2Z 12 3,120
AJtE &I
HEZH 74,128,000%70%11/360 1,586
204 MR AH| 3,720 3,720 0
02 Mg EXH| 3,720 3,720 0
LSZOEIQA('CHZ 29)
155,000+2F x12& 3,720
Jl23| 96,992 99,899 22,907
Jl=3| 96,992 99,899 A2,907
201 LBt FH| 41,152 42,376 AT,224
01 AFR 22| 41,152 42,376 AN1,224
2HM2Z JI24+8Hl 19,900
J=gdf+8 S| 21,252
202 ¢4 H| 51,640 53,323 21,683
01 =W 51,640 53,323 A 1,683
2L SE I 38,640
22 EE0UI 13,000
203 HRF&H| 4,200 4,200 0
04 BEASSEHFFEH 4,200 4,200 0
FAN2E LRFAHI 350,000 12& 4,200




